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Let f (o)

=x)—x* =52 +9x" —16x —60. We’ll say everything we can about this polynomial that’s worth
saying.

1. (3 pts) \Describe the end behavior of the graph of f with a simple graphic.
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2. (3 pts) Use Descartes’ Rule of Signs to determine the possible number of positive and negative zeros of f.

f(x): x—x" —=5x +9x° —16x —60.
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3. (3 pts) Use the Rational Zero/eé Theorem to determine the possible rational zerogs of f.
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f(x): x—x" —5x7 +9x7 —16x —60.
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4. (3 pts) Informed by your work, above, and maybe a graphing utility of some sort, use synthetic division to
find the zeros. Each time you find a zero, it should reduce (depress) the question by one degree. Each time

you find a zero, you should thereafter be working with a depressed polynomial that 1s of lesser degree.

f(x): X —x* =57 +9x —16x —60.
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5. (3 pts) From you work, above, factor f over the real numbers. This will involve an irreducible quadratic

factor.

(xS (x=3) ( x =2 55
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6. (3 pts) From your work above, factor f over the complex numbers. This should split f into linear factors.

(x +2) (=D (% - (1+20) (x—(1-2)
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7. (3 pts) Give a rough sketch of f that shows all intercepts.
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X —5x -6 .
8. (3 pts) Sketch the graph of R(x) = % Show all asymptotes, intercepts and any holes.
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X' —ox? +14x+24

differs from the graph of £, in #8, in only one small detail
X —9x? +26x—24 P / Y

9. (3 pts) The graph of g(x)=

Sketch the graph of g, showing all asymptotes, intercepts and holes.
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—4x* —Tx+10

x—x—-6

3
10. (3 pts) Sketch the graph of R(x) =X , showing all asymptotes, intercepts and holes.

degrae v > A‘“W deman, © /
Obligus (Sﬁmixas%pla’? DWVIDE

owe st Toam S
gg = RNT-2,% C Ais Box) = \‘_()(x-/):(Lx_g‘)(x—Q

; xt -2
(e-Dxr D) = W= (x-3)¢x+2) (<=3 7
2\ -d -3 10 VAL k=73 — .
- -1 L —10 Holeé! X—=-2 ’\3>(_<’Q/?) =Hole
TG T oo Seet! ()b (A0 | oal
(-2-3) -5 T

_eY=N = w U E IO
o i x-oF - <=1, 5(-2 LRod
\‘o - - /\/o'r De +*

(1,0, (r,o)! @) ==

_uF
? _ 5
(0,”=
HA L None. Has Efmv‘ ASWP}Ole
SA e o
—( 3wrx 1)
/N
-4y -8
Tles  qoves - .
~4x-8 (07
oy
RO= x-3 + S ("%’\?)q %
\_/t):_\_,)_\ g+ "f tol’ ) %%/
= - - —_— —_ X _ ’ )
¥ (x-DHD x=3 L Q,%\
AR
/\ Ry

10



	Page 1: Oct 16-9:28 AM
	Page 2: Oct 16-9:41 AM
	Page 3: Oct 16-9:42 AM
	Page 4: Oct 16-9:42 AM
	Page 5: Oct 16-9:42 AM
	Page 6: Oct 16-9:42 AM
	Page 7: Oct 16-9:42 AM
	Page 8: Oct 16-9:43 AM
	Page 9: Oct 16-9:43 AM
	Page 10: Oct 16-9:44 AM

